
 20dB bandwidth 
802.11a 

TX chain : 0

Frequency :  5580MHz

Right edge = 5569.73 + 20.68 = 5590.41 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.83 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 0

Frequency :  5580MHz

Right edge = 5569.87 + 20.41 = 5590.28 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.92 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 1

Frequency :  5580MHz

Right edge = 5569.68 + 20.91 = 5590.59 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.67 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 2

Frequency :  5580MHz

Right edge = 5569.43 + 21.05 = 5590.48 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.58 >5650 MHz

P 4/7



 20dB bandwidth 
802.11an 40MHz 

TX chain : 0

Frequency :  5550MHz

Right edge = 5529.87 + 40.33 = 5570.2 < 5600MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 1

Frequency :  5550MHz

Right edge = 5529.73 + 40.51 = 5570.24 < 5600MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 2

Frequency :  5550MHz

Right edge = 5529.74 + 40.52 = 5570.26 < 5600MHz
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